Rotary Manifolds Rotary Manifolds

Economy Type High Performance Type

BMRTY BMRTN
Number of Circuits 2 L
E Px3
Number of Circuits 4 _4-d
P.CD
L“ 6 -O-€
90 0%
4-M
23 (Hex Size
‘ 08.5 Depth 0.5 ( L
EMI 4-M5 N B E Px5
7 @3 . Number of Circuits 6 A
o L T Ny | & 1 [
‘ ! & 0 N P i i e
< Sl ee
y Y D o © ) i i
t‘ J o g } = [ 1) {1 1 [ 1 T 6-M N\ 11-M_
! 2-M5 I
08.5 Depth 0.5 D42
- B_E
Number of Circuits 8 diHo A
Number of Circuits 4 L1
= = F
| PN PP
’ REPPO
- Fo! i
- 7 \BM
- [RoHS 10|
‘f 23 (Hex Size)
\ Part Number Thread Size Mlovable oot Tl MIRIMUM [ ) oo Pl | Alowable Leak [ e o < T Unit Price
Nonina M L |Dw|T|A|B|E|P|d PCD|diHo|d2| F | H | S |RolatonalSpeed (N,m)"* Sectional Area (Simo'gamg) dmant: XS )
,\ﬁ ) Type fubedcmy (min™) (mm?) om’/min 9) |1~3pc(s).
N bt oy M5 | M5x0.8Depth 5| 72 | 45 10| 15 |125] 10 36 16|24 |26| 350 0.05 4.9 | M5x3pes. 11 110
! b 08.5 Depth 0.5 4 |99
705 % 1 Re1/8 94 60| |125/205[155[135) |49 225/35|38| 240 0.07 12.5 |R1/8x3pcs.| 13 280
I i M5 | M5x0.8 Depth 5| 935 | 53 | 4 | 10 | 15 | 13 | 10 [4.5] 45 |30epth3| 4 |205( 32| 34| 240 0.12 4.9 | M5x5 pes. 13 160
0 BMRTN| 6 —
33 &3 ~ 1 Rel/8  |1225/70| |125205[17.5/135) |58 27 |41|44| 170 0.17 12.5 |R1/85pes.| 15 500
L@ 8 M5 | M5x0.8 Depth 5 | 118 | 60 111616 | 10 49 225/36|38| 200 0.2 4.9 | M5x6 pes. 15 380
g 1 Re1/8 156 |80 |7 | 16 | 24 |17.5[135|5.5| 67 |4Depth4| 5| 31 |46 |48 | 140 0.4 12.5 |R1/8x6pcs.| 16 900
w
gz ) s * Allowable leak amount is the value at factory shipment. (®For orders larger than indicated quantity, please request a quotation.
= I L ]
4-M5_~1 © . gumm“g - lStructure Diagram
8.5 Depth 0.5 042 Plugs are not included. Example  BvRTNZ - M5 No.| Part Name [MMaterial
[RotiS 10} Use MPLGN on P1398. @ | Mounting Flange ‘Aluminum Alloy
®
= = . Fixed Side Body Cover Stainless Steel
Part Number |A|Iowable Ro_taﬁonaISpeed Rotational Torque| Minimum Sectional Area Mass (g) Unit Price WStructure Diagram g Bearing Holder Stainless Steel
Type Number of Circuite| ~~ (min™) (N-m) (mm?) 1 ~ 5 pc(s). Gasket Nitrile Rubber
2 0.07 65 MFeatures ® ® | Fired Side Aluminum Alloy
BMRTY 4 350 0.08 8.55 85 +Can be used for plumbing on rotary parts such as index tables. @ ® Rotating Side Algrqinum Alloy
oo Tk 0 onkoe 21700 Fevutons/in. and b tT' e ——— — o] -Bearing is embedded to achieve high rigidity and rotation with low friction. g ‘ g :as‘fe‘ g"”'?ﬂusb‘belf
eakage lest: eakage al evolutions/min, and In Ambient lemp. € Inaicated values are measured values, not guaranteed values., : T : > i ? 8 rint rin
(& For orders arger than incicated quantt,please check with WOS ’ 'zzakgggmon has a low friction gasket structure that ensures low air ® I:;;?ngssliz T Dowel P Bearing Siee
oerng W Precautions for Use ©) D Plug R1/8: Stinless Steel
amrle  BMRTY4 Use clean air preconditioned with dryer or filter. (Do not use synthetic @
BFeatures Bispecifications oil containing chemical and organic solvent, or air containing salt and
. | ’ = . : corrosive gas. They may cause damage and malfunction.) Preumatic Pipe (Fixed Side)
Can be used for plumbing on rotary parts such as index tables. Applicable Fluid [ Compressed Air . ex Example
-Smooth rotation with low leakage is achieved by applying the low  Operatng Abient 5-70°C Minstallation Method . . Rotaton Stopper
friction seal. Rotating Angle| _Endless The_upper polrtlon of th_e fixed side should hgve a ro@tlon stopping measure
-Each circuit is separated, which stabilizes the flow rate. Operating Pressure Range| 0~0.7MPa designed to fit the equipment, and the floating condition should be ensured. é
™" Rotary Manifold

Excessive load to the rotating side shaft may cause damages and air

lPrecautions for Use |
BMRTY Fiv o o - eakage.
Use clean air preconditioned with dryer or filter. (Do not use MEXI Example ?W S
synthetic oil containing chemical and organic solvent, or air £ i No. [PartName| [OMaterial @mﬂmm ?//”’///’”? M Specifications
containing salt and corrosive gas. They may cause damage and Main Body [EN AW-2017 Equis] Clear Anodize ) fl!'é Applicable Fluid Qil Free Air Pneunatic Ppe (Rotating Side)
malfunction.) Casing _|ENAN-2017 Equi] Clear Anodize Floating /1Y B Opealing Anbien Tenpeaure 5~60°C
Minstallation Method 0 %ﬁ:” Ni;”'le R”i’h‘e’ Fixed Side t : ?o’at;t':‘g Ar;g:e 100k§’ndlgs7sMP . Index Table
The upper portion of the fixed side should have a rotation stopping measure Hose Niool 5 Plugr SJSVE‘EE’ n:7 Ry Sidel_ ] perating Pressure Range -C ta~t. a
i i i i iti ose Nipple - - * Cannot retain vacuum.
designed to fit the equipment, and the floating condition should be ensured. P1398 SRTNCN © |Ret. Ring |fN 14301 Equ .

Excessive load to the rotating side shaft may cause damages and air leakage.
Upper part rotates when the bottom part (flange) is fixed.



